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SREE ZER (MW Z N—T9H FREE T R TR E O R RIS S
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HALFEETER 66 2 62 31 BEE E1—-%9 2 — - a 31 - - —
WILEBR 66 2 62 31 BEE E1—-%10 2 — - a 31 - - —
AR 66 2 62 31 BEE Ei-E11 -2 — — ] #1 — — — —
A FER R 66 4 500 375 BEE E1—%12 -28 — — i 125 - — —
EAIIES 66 2 272 136 BEE 2127536 -12 — — Bl 136 - — —
EAIIES 66 2 132 66 BEE 21272536 -10 — — Bl 66 - — —
EAIIES 66 2 132 66 BEE 2127536 -1 — — Bl 66 - — —
EAIIES 66 2 84 42 BEE 2127536 0 — — AT #5 - — — —
INBXHR 66 2 182 91 BEE Z12-%13 -2 — — Bl 91 - — —
IRET X #R 66 2 98 49 BEE F12-%14 -10 — — Bl 49 - — =
PR 66 2 140 70 BEE 12-%15 -1 — — Bl 70 - — =
FERR 66 2 250 125 BEE = -18 — - a 125 - - =
FERR 66 2 158 79 BEE = -15 — - a 79 - - =
FERBR 66 2 - - RER - - - - - = - - —
HARTIZHR 66 2 132 66 BEE #12—-%16 -3 — — Bl 66 — — =
FERB 66 2 - - RER - - - - - = - - —
HBFER 66 2 250 125 BEE E1—%18 -43 — — i 125 - — =
HBFER 66 2 250 125 BEE E1—%18 -44 — — i 125 - — =
HBFER 66 2 166 83 BEE E1—%18 -44 — — Bl 83 - — =
BT8R 66 2 158 79 BEE E1-F17 0 — — i 79 - — =
B 66 1 - - RER - - - - - = - - —
BER 66 2 64 32 BEE Z18—iEAE & HABRT -26 — — T #1 — — — =
BER 66 2 64 32 BEE Z 18— iEAE & BT -26 — — ] #1 — — — =
FERB 66 1 - - RER - - - - - = - - —
FERB 66 2 - - RER - - - - - = - - —
R ILE R SR 66 2 394 197 BEE E1—-%2 -8 — - a 197 - - =
R ILE R SR 66 2 394 197 BEE E1—-%2 3 — - a 197 - - =
R ILE R SR 66 2 394 197 BEE E1—-%2 -5 — - a 197 - - =
R ILE R LR 66 2 394 197 BEE E1—-%2 0 — — FH] #5 — — — =
S 66 1 42 42 BEE FE1—%19 -12 — - FA] #1 — — — =
e 66 2 96 48 BEE FE1—%20 8 — — i 48 - — =
Rd::k3 ] 66 2 182 91 BEE E1—%21 -5 — — i 91 - — =
HHELR 66 2 250 125 BEE FE2-%24 -9 — - a 125 - - =
HHELR 66 2 330 165 BEE FE2-%24 -10 — - a 165 - - =
HHELR 66 2 158 79 BEE FE2-%24 -21 — - a 79 - - =
SRR 66 2 84 42 BEE F2—%22 -1 — — i 42 - — =
KL 66 2 250 125 BEE F2—%23 10 — — i 125 — — =
HHERR 66 2 394 197 BEE FE2-%24 -24 — - a 197 - - =
HHERR 66 2 394 197 BEE FE2-%24 -24 — - a 197 - - =
HHERR 66 2 330 165 BEE FE2-%24 -1 — - a 165 - - =
HHERR 66 2 158 79 BEE FE2-%24 -17 — - a 79 - - =
FERHB 66 1 - - RER - - - - - = - - —
RE 3R 66 2 120 60 BEE F2—%25 -5 — — i 60 - — =
MIRX R 66 2 160 80 BEE F2—%26 5 — — i 80 - — =
BRI 66 1 38 38 BEE 226759 0 — — T #1 — — — =
HAH 66 1 36 36 BEE 2£26—7%10 0 — — FA] #1 - — — =
WHEER 66 2 158 79 BEE 24—%27 -12 — — Bl 79 - — =
WHEE 66 2 158 79 BEE %24—%27 -12 — — Bl 79 - — =
BRI 66 1 — — BEE — — — — — - - - - <
FERB 66 1 - - REE - - - - - = - - - <
FERHB 66 1 - - REE - - - - - = - - - <
FERBR 66 1 - - REE - - - - - = - - - <
FERB 66 1 - - RER - = - - T #1 - - - - X1
FERHB 66 1 - - REE - - - - - = - - - <
BRI 66 1 — — BEE — — — — — - - - - <
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56 & 66 2 250 125 MEE Z2—-728 -43 - - Bl 125 - - -

57 EEBER 66 1 39 39 RER 28759 0 = - A #1 - = - - 1

58 EEBER 66 1 39 39 RER #2859 0 = - A #1 - = - - 1

59 FERR 66 1 - - RER - - - - - - - - - <

60 Kl R 66 2 500 250 BEE FE3—%29 -79 — — i 250 fY - EE21

61 BRAER 66 2 116 77 BEE 2£29—7%530 0 — — i 39 Y — EE21

62 BRAER 66 2 116 58 BEE 2529—7%530 -79 — — i 58 Y — EE21

63 AAZHR 66 2 102 67 BEE 252973532 -79 — — i 35 Y — EE21

64 AAXHR 66 2 102 67 BEE %29—%32 -61 — — 7 35 fY - #HFE21

65 KA 66 2 84 55 BEE 2529332 -61 — — i 29 Y — EE21

67 KA 66 2 84 55 BEE 2529332 -61 — — i 29 Y — EE21

68 KA 66 2 84 55 BEE 2529332 -61 — — i 29 Y — EE21

69 AAZHR 66 2 84 55 BEE 252973532 -61 — — i 29 Y — EE21

70 BEXR 66 2 64 32 BEE 25292531 0 — — i 32 Y — EE21 X1

7 FERR 66 1 - - BEE - - - - - - AY - #HFE21 <

72 BIRER 66 1 — — BEE = — — — — — Y — EE21 <

74 BIRER 66 1 — — BEE = — — — — — Y — EE21 <

75 BIRER 66 1 — — BEE = — — — — Y — EE21 <

76 BIRER 66 1 — — BEE = — — — — — Y — EE21 <

77 HEHNBR 66 2 250 125 BEE 2529—%542 -27 — — i 125 Y — EE21

78 HEHNBR 66 2 250 125 BEE 229—%542 -27 — — i 125 Y — EE21

79 HEHNBR 66 2 250 125 BEE 2529—%542 -27 — — i 125 Y — EE21

80 HEHNBR 66 2 250 125 BEE %29—%42 0 - — T #5 - #Y - #FE21 ¥1

81 SRR 66 2 64 32 BEE 25297533 -1 — — i 32 Y — EE21

82 BIRER 66 1 — — BEE = — — — — — Y — EE21 <

83 INZ BT 4R 66 2 64 32 BEE 2529—%534 -27 — — i 32 Y — EE21

84 KM/NEBR 66 2 250 125 BEE %3—%36 -59 — — i 125 fY - EE21

85 KM/INEBRR 66 2 98 49 BEE %3—%36 -61 — — i 37 fY RHE EE21

86 KM/NEBR 66 2 98 49 BEE %3—%36 -48 — — i 49 Y — HIE21,3%85 X1

87 EEXR 66 2 182 91 BEE FE3—Z40 1 — — 7 91 fY - #FE21

88 NFXHR 66 2 94 47 BEE F3—%35 -31 — — 7 47 fY - HIE21,3%85

89 AR 66 1 27 27 BEE 25352537 -16 — — A #1 - Y — HIE21,3%85 X1

90 66 1 42 42 BEE 25352537 -16 — — A #1 - Y — HIE21,3%85 X1

91 66 1 — — BEE = — — — — — Y — HIE21,3%85 <

92 66 1 42 42 BEE 25377538 -2 — — A #1 - Y — HIE21,3%85 X1

93 66 2 130 65 BEE %3—%39 0 — — 7 65 fY - #FE21 ¥1

94 66 2 102 51 BEE FE3—%40 1 — — 7 51 fY - #FE21

95 66 2 158 79 BEE FE3—-F4 -48 — — i 79 Y — EE21 X1

96 66 2 158 79 BEE FE3—-F4 -48 — — i 79 Y — EE21 X1

98 66 1 394 197 BEE Fa—%42 -172 - - a 197 Y - HE22

99 66 1

100 66 2 250 125 BEE F42-%29 -2 — — i 125 #Y - EE22

101 66 2 250 125 BEE F42—%29 -3 — — i 125 #Y - HE22

102 66 2 250 125 BEE 42729 -3 — — i 125 Y — EE22

103 66 2 250 125 BEE F42—%29 0 - — T #5 - #Y - #FE22 ¥1

104 66 2 132 66 BEE 42—7%43 0 — — i 66 Y — EE22

105 66 2 64 32 BEE 427544 0 — — T #1 - Y — HE22 X1

106 66 2 84 42 BEE 425545 -3 — — i 42 Y — EE22

107 66 2 250 125 BEE 427548 -85 — — i 125 #Y RHE EE22

108 66 2 250 125 BEE F42—%48 -85 — — i 125 #Y BSES #%£223%107

109 66 2 140 70 BEE F42—%48 -82 — — 7 58 #Y BSES H%22,%107,108

112 66 2 98 49 BEE Zr42—7%548 -82 — — i 49 Y RHE #7722,3%107,108,109

113 66 2 98 49 BEE 427548 -82 — — i 49 Y — #7722,3%107,108,109

114 66 2 140 70 BEE 423546 0 — — 7 70 #Y - #%£223%107

115 66 2 64 32 BEE 42547 -3 — — i 32 Y — H%22,%107,108 X1
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117 66 1 — — BEE - - - — — — Y — #7722,3%107,108,109 |
118 66 1 — — BEE - - - — — — Y — #7722,3%107,108,109 |
119 66 1 — - BEE - - - — — — Y — #7722,3%107,108,109,112 | O
120 HE#R 66 2 250 125 BEE F4—-%49 -17 — — ] #1 - Y — HE22 X1
121 IRR PR 66 2 394 124 REERF F4-oBHMEHN -169 — — T #4 - #Y RHE Hx22

122 5A 66 2 300 150 BEE FE5—%50 -28 — - a 150 Y — Hix17

123 LB 66 2 294 147 BEE FE5—%50 -28 — - a 147 Y — Hix17

124 BIRER 66 1 — — BEE - - - - — Y — Hix17 <
125 HFHR 66 2 300 150 BEE FE5—-%50 -37 — - a 150 Y — Hix17

126 HFHR 66 2 294 147 BEE FE5—%50 -37 — - a 147 Y — Hix17

127 HIHR 66 2 294 147 BEE FE5—%50 -12 — - a 147 Y — Hix17

128 HIHR 66 2 294 147 BEE FE5—-%50 -12 — - a 147 Y — Hix17

129 HFHR 66 2 208 104 BEE FE5—%50 -12 — - a 104 Y — Hix17

130 HFHR 66 2 208 104 BEE FE5—-%50 -12 — - a 104 Y — Hix17

131 EIRER 66 1 — — BEE - - - - — — Y — Hix17 <
132 BALZR 66 2 130 65 BEE FE5—- %51 -6 — - a 65 Y — Hix17 X1
133 EIRER 66 1 — — BEE - - - - — Y — Hix17 <
134 FERR 66 2 — — BEE - - - - — Y — Hix17 <
135 BEEXR 66 2 64 32 BEE 5 %52 -4 — - a 32 Y — Hix17

136 F4)IFRER 66 2 158 79 BEE E5—%54 -53 — - a 79 Y — Hix17

137 FE)IFRER 66 2 158 79 BEE E5—%54 -53 — - a 79 Y — Hix17

138 FE)IFRER 66 2 158 79 BEE E5—%54 -43 — - a 79 Y — Hix17

139 FERR 66 2 — — BEE - - - - — — Y — Hix17 <
140 SRR 66 2 136 68 BEE FE5—%53 -1 — - a 68 Y — Hix17

141 FERR 66 1 — — BEE - - - - — — Y — Hix17 <
142 FERR 66 2 — — BEE - - - - — Y — Hix17 <
143 AL 66 2 394 197 BEE 25502555 1 — - a 197 Y — Hix17

144 AL 66 2 250 125 BEE 25502555 2 — - a 125 Y — Hix17

145 RAERAR 66 2 64 32 BEE 25502556 -1 — - a 32 Y — Hix17 X1
146 RN 66 2 64 32 BEE %50~ %57 0 — — ] #1 - Y — Hix17 X1
147 IR 66 2 152 76 BEE 25502558 0 — - a 76 Y — Hix17 X1
148 BRER 66 2 158 79 BEE %550~ %559 -6 — - a 79 Y — Hix17

149 BRER 66 2 158 79 BEE 25502559 -6 — - a 79 Y — Hix17

150 BRER 66 2 158 79 BEE 25502559 -6 — - a 79 Y — Hix17

151 BRER 66 2 154 71 BEE %550~ %559 -6 — - Bl 77 Y — Hix17

152 FERR 66 2 - - RER - - - - - - Y - Hix17 <
153 FERR 66 1 — — BEE - - - - — — Y — Hix17 <
154 FERR 66 1 — — BEE - - - - — — Y — Hix17 <
155 V55 66 2 250 125 BEE F6— %61 -23 — - a 125 Y — Hix17

156 V55 66 2 250 125 BEE F6— %61 -23 — - a 125 Y — Hix17

157 V55 66 2 250 125 BEE F6— %61 -23 — - a 125 Y — Hix17

158 V55 66 2 250 125 BEE F6— %61 -23 — - a 125 Y — Hix17

159 FERR 66 1 — — BEE - - - - — — Y — Hix17 <
160 FERR 66 1 — — BEE - - - - — — Y — Hix17 <
161 FERR 66 1 — — BEE - - - - — — Y — Hix17 <
162 BIRER 66 1 30 30 BEE = - - - ] #1 — Y — Hix17 X1
163 FERR 66 1 — — BEE - - - - — — Y — Hix17 <
164 EIRER 66 1 — — BEE - - - - — — Y — Hix17 <
165 FERR 66 2 - - RER - - - - - - aY - Hix17 <
166 BEREZIR 66 2 144 72 BEE F6—%62 -1 — - a 72 Y — Hix17

167 BEREZIR 66 2 144 72 BEE F6—%62 -3 — - a 72 Y — Hix17

168 PR 66 2 84 42 BEE %6—%63 -8 — - a 42 Y — Hix17

169 HERER 66 2 394 197 BEE FET1—%65 -91 — — i 197 - — —

170 HERER 66 2 394 197 BEE FET1—%65 -78 — — i 197 - — —

171 B R 66 2 146 73 BEE ET1—-%64 -13 — — Bl 73 — — —
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EEHNo EL T E (V) man | coxmew | RRUNE i W B ibEm | remmRa | | me . | Amas e Ty %
172 REMR 66 2 116 58 BEE 2565— 2566 3 — — Bl 58 — —
173 TER 66 2 172 86 BEE 2565—7568 -70 — - a 86 - -
174 TER 66 2 116 58 BEE 2565—7568 -58 — - a 58 BSES —
175 TER 66 2 72 36 BEE 2565—7568 -58 — - a 36 - %174
176 SERXE 66 2 158 79 BEE 25652567 -12 — — Bl 79 — —
177 EIRER 66 2 — — BEE - - - - - — - %174 <
178 EZNHRER 66 2 130 65 BEE 2565—%562 0 — — AT #5 — — —
179 BIRER 66 1 — — BEE - - - - T #1 — - = <
180 ZBERR 66 4 312 234 BEE FE8—%70 -68 — - a 78 — — %3
181 FEER 66 1 156 156 BEE = -61 — — T #1 - - — X1
182 FEER 66 1 156 156 BEE = -61 — — T #1 - - — X1
183 FERR 66 1 — — BEE = — - - - - - — <
184 N2 STE AR 66 2 250 125 BEE 8K -96 — - a 125 - -
185 N2 TE AR 66 2 250 125 BEE E8-ET1 -96 — - a 125 - -
186 EIRER 66 2 64 32 BEE = - - — T #1 — - — X1
187 EIRER 66 2 — — BEE = — - - - - - — <
188 HEXR 66 1 32 32 BEE K72 -15 — — ] #1 - - — X1
189 NIZIHR 66 2 208 104 BEE ZE70—%T71 -1 — — AT #5 - — —
190 SRR 66 2 250 125 BEE EN—ET3 -70 — - a 125 - -
192 FERR 66 1 — — BEE = — - - - - - — <
193 EJIES 66 2 72 36 BEE E8—%74 -4 — - a 36 - -
194 66 1 32 32 BEE E8—-KT5 -21 — — ] #1 - - — X1
195 66 2 172 86 BEE EHIZE21—-2E76 -68 — - a 86 - T E0i%33,34
196 66 2 134 67 BEE EHIZE21—-2E76 -68 — - a 67 - T E0i%33,34
197 66 2 86 43 BEE EHIZE21—-2E76 -12 — - a 43 - T E0i%33,34
198 66 2 — — BEE - — — — — — — T E0i%33,34 <
199 66 2 102 51 REE - - - - | 51 - B A0%33,34
200 66 2 — — BEE - — — — — — — & E0i%33,34 <
201 66 1 — — BEE - — — — — — — T E0i%33,34 <
202 FRBIR 66 1 42 42 BEE e %77 -9 — — T #1 - - & E0i%33,34 X1
203 FRBIR 66 1 42 42 BEE e %77 -9 — — T #1 - - & E0i%33,34 X1
204 BIRER 66 1 — — BEE - — — — — — — T E0i%33,34 <
205 1148 22 1 8 8 BEE = — 3 — T #1 — — Hix17 1@
206 hBR 22 1 7 7 BEE = — 1 — A #1 — — — 1@
207 hBR 22 1 7 7 BEE = — 7 — A #1 — — — 1@
208 BEBR 22 1 8 8 BEE = — 8 — A #1 — — — 1@
209 FHER 22 1 10 10 BEE - - 10 - T #1 — - #7722,3%107,108 1@
210 — AR 22 1 12 12 BEE = — 5 — T #1 — - #7522,3%107,108,109,112 | 1@
211 R 22 1 10 10 BEE - - 10 - T #1 — — 722 1@
212 EIRER 66 1 — — BEE - — — — — — — EE21 <
213 —FAREZR 22 1 12 12 BEE = — 6 — ] #1 — - #7522,3%107,108,109,112 | 1@
214 FERR 22 1 — — BEE = — 8 — — - - EE21 <0
215 EIRER 22 1 — — BEE = — 5 - - — — = <0
216 EIRER 66 1 — — BEE = — - - - - - — <
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BE (V) SHak EEE(MW) — =19 TR FEHENHEO AR D SBA
RN i = e = cwoccam | TN | eEa T SEER | chmEAA | TR | URER | wrEmo | g LRRRE
5 FE)ZEER 66 6 2 23 23 REE = 15 - A #3 - HY = Hix17 [
9 BERIEERR 66 6 2 57 57 REE = 57 — ] #3 = = — - °
9 BRIEERR 66 22 1 19 19 REE 1 - = A #3 = = — -
10 ERLEEHR 66 6 3 66 66 REE = 66 - T #3 = — - - [
11 ARIEERT 66 6 2 57 57 REE = 55 - T #3 = — - - [
12 BHEBR 66 6 3 76 76 REE — 76 — ] #3 - — = — °
13 INBEER 66 6 1 19 19 REE = 17 - T #3 = — - - [
14 [RETEERT 66 6 2 38 38 REE — 23 — ] #3 - — = — °
15 AP EER 66 6 3 47 47 REE — 46 — ] #3 - — = — °
16 HARTEERT 66 6 2 38 38 REE = 35 - T #3 = — - - [
16 HARTEERT 66 22 1 14 14 REE 0 - = T #3 = — = —
17 FEFEE/R 66 6 3 57 57 REE = 55 — ] #3 = — = - °
18 BEEER 66 6 3 52 52 REE — 39 — ] #3 - — = — °
19 HILEERR 66 6 1 9 9 REE = 1 = T #3 = — - - [
20 EHREER 66 6 2 47 47 REE — 47 — ] #3 - — = — °
21 FEREER 66 6 2 57 57 REE = 52 - T #3 = — - - [
22 i 66 6 2 23 23 HREE = 23 - T #3 = — - - [
22 66 22 1 - - REE - - - - - - - - <
23 66 6 3 76 76 HEE = 76 - T #3 = — - - [
24 66 6 3 47 47 HEE = 45 - T #3 = — - - [
24 66 22 1 - - REE - - - - - - - - <
25 BFE BT 66 6 2 33 33 REE — 23 — ] #3 - — = — °
25 BFE BT 66 22 1 9 9 REE = 9 — ] #3 = — = —
26 MREER 66 6 3 57 57 REE = 57 - T #3 = — - - [
26 MREERM 66 22 2 - - REE - - - - - - - - <
27 W EEER 66 6 3 52 52 REE = 51 - T #3 = — - - [
28 EEEER 66 6 2 33 33 REE = 17 - T #3 = — - - [
28 EEEER 66 22 2 19 9.5 REE -1 - = T #3 = — = —
29 J\WEEEE/R 66 6 3 42 42 REE = 37 - T #3 - HY = HE21 [
30 BRALER 66 6 2 23 23 REE = 22 - T #3 - HY = HE21 [
31 BIHEER 66 6 2 21 21 REE = 21 - T #3 - HY = HE21 [
32 AAEER 66 6 2 19 19 REE = 10 - T #3 - HY = HE21 [
33 ZHREER 66 6 2 16 16 REE = 16 - T #3 - HY = HE21 [
34 INZBTEER 66 6 3 33 33 REE = 22 - T #3 - HY = HE21 [
34 INZBTEER 66 22 1 — — REE - - - — = HY = HE21 <
35 NFEEH 66 6 2 28 28 REE = 28 - T #3 - HY = HI21,5%85 [
36 INEEER 66 6 2 14 14 REE = 14 - T #3 - HY = HI21,5%85 [
37 B EER 66 6 1 9 9 REE = 9 = T #3 - HY = HI521,5%85 [
38 2 EERR 66 6 1 2 2 R - 1 — R #3 - HY - H721,3%85 [
39 BHREER 66 6 1 14 14 REE = 14 - T #3 - HY = HE21 [
40 EELEER 66 6 3 47 47 REE = 45 - T #3 - HY = HE21 [
41 REEER 66 6 2 23 23 REE = 21 - T #3 - HY = HE21 [
42 FHBEEHR 66 6 2 23 23 REE = 21 - T #3 - HY = HE22 [
43 KHEER 66 6 2 38 38 REE = 37 - T #3 - HY = HE22 [
44 SHEEMR 66 6 2 14 14 REE = 14 - T #3 - HY = HE22 [
45 HHEEMR 66 6 2 19 19 REE = 16 - T #3 - HY = HE22 [
46 BB 66 6 2 38 38 REE = 37 - T #3 - HY = #7522,3%107 [
47 EWMEER 66 6 2 16 16 REE = 13 - T #3 - HY = H%223%107,108 [J
47 EWMEER 66 22 1 4 4 REE 0 - = T #3 - HY = H%223%107,108
48 #EEER 66 6 3 42 42 REE = 35 - T #3 - HY = #7522,3%107,108,109
48 #HEEER 66 22 1 9 9 REE -6 - = T #3 - HY = #7522,3%107,108,109
49 HEZER 66 6 2 28 28 REE = 18 - T #3 - HY = HE22
49 HEZER 66 22 1 4 4 REE 0 - = T #3 - HY = HE22
50 SREER 66 6 2 38 38 REE = 35 - T #3 - HY = Hix17
50 SREER 66 22 1 4 4 REE -6 - = T #3 - HY = Hix17
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51 AALEER 66 6 1 9 9 HREE = 3 = T #3 — HY = Hix17 [

52 EREER 66 6 3 38 38 REE = 32 - T #3 - HY = Hix17 [

53 SREEM 66 6 2 33 33 REE = 22 - T #3 - HY = Hix17 [

53 SREEM 66 22 1 — — REE - - - — = HY = Hix17 <

54 FHREER 66 6 2 33 33 REE = 20 - T #3 - HY = Hix17 [

54 FHREER 66 22 1 — — REE - - - — = HY = Hix17 <

55 ENEER 66 6 2 38 38 REE = 38 - T #3 - HY = Hix17 [

56 SRALEE B 66 6 3 30 30 REE = 29 - T #3 - HY = Hix17 [

56 SRALEE B 66 22 2 28 185 REE 0 14 - T #3 - £Y = Hix17

57 SNEER 66 6 2 28 28 REE = 28 - T #3 - HY = Hix17 [

58 HIREER 66 6 2 33 33 REE = 33 - T #3 - HY = Hix17 [

58 HIREER 66 22 1 — — REE - - - — = HY = Hix17 <

59 BFEEER 66 6 2 28 28 REE = 21 - T #3 - HY = Hix17 [

59 BFEEER 66 22 1 9 9 REE 0 - = T #3 - HY = Hix17

60 )1 AR 22 6 1 9 9 R - 5 — R #3 - HY - %17 ]

61 VSLEEM 66 6 3 47 47 REE = 37 - T #3 - AY = Hix17 [ ]

61 VSLEEM 66 22 1 — — REE - - - = = £Y = Hix17 <

62 EZNEER 66 6 2 28 28 REE — 24 - ] #3 — AY — Hix17 [

62 EZNIEEHR 66 22 1 — — REE - - - - - AY - Hik17 <

63 PEEERM 66 6 2 33 33 REE = 26 - T #3 - HY = Hix17 [

63 PEEERM 66 22 1 — — REE - - - — = HY = Hix17 <

64 BAXEERR 66 6 3 47 47 REE — 35 — ] #3 - — = — °

64 BAEER 66 22 1 - - REE - - - - - - - - <

65 HEEEER 66 6 3 47 47 REE = 38 - T #3 = — - - [

66 66 6 3 47 47 HREE = 47 - T #3 = — - - [

67 66 6 2 33 33 HEE = 22 - T #3 = — - - [

67 66 22 1 - - REE - - - - - - - - <

68 66 6 2 28 28 HEE = 14 - T #3 - HY - %174 [

68 TEEER 66 22 2 15 5.5 REE 0 - = T #3 - HY - %174

70 HEETEER 66 6 3 47 47 REE = 41 - T #3 = — - - [

70 LS 66 22 1 - - REE - - - - - - - - <

il N2 IEER 66 6 3 47 47 REE = 46 - T #3 = — - - [

il N2 IEER 66 22 1 16 16 REE 0 - = T #3 = — = —

72 HEEER 66 6 1 4 4 REE = 4 = T #3 = — = —

73 EREER 66 6 3 57 57 REE = 52 - T #3 = — = —

74 ENEER 66 6 3 42 42 REE = 39 - T #3 = — = —

75 HIEEER 66 6 1 4 4 REE = 4 = T #3 = — = —

75 HIAEEERT 66 22 1 — = REE — - - - - = = —

76 EAE— LB 66 6 1 7 7 REE = 3 = T #3 - HY = B 40i%33,34

77 FERBIEER 66 6 1 1 1 REE = 1 = T #3 - HY = B 40i%33,34

78 thBEEE 22 6 2 5 5 REE = 1 1 ] #3 = — = —

79 BESREHE 22 6 1 5 5 REE = 5 5 T #3 = — = —

80 FHEREE 22 6 1 4 4 REE = 0 0 T #3 - HY = H%223%107,108

81 —ANEEE 22 6 1 5 5 REE = 0 0 T #3 - HY = #7522,3%107,108,109,112

82 —ARINE _FEE 22 6 1 5 5 REE = 0 0 T #3 - HY = #7522,3%107,108,109,112




